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HSSM 4202

Fifth Semester Examination — 2008

PRODUCTION AND OPERATIONS

MANAGEMENT

Full Marks-70

Time: 3 Haurg

Answor Cuestion No. T which (s compulsory

(8]

()

and any five from the rast,

The figures in the right-hand margin

indicate marks.

Answer the followlng questions ; _ 210

Mame the different types of charte usad
for maotlon study.

Name five qualitative factors commanly

considared for facility location decisions.

RT.O.

{e)

(a)

{e)
(f)

(g}
{h}

Lisl down the costs included in anrual -

carrylng cost .

Name three mathads of ot sizing that used
whan the darmeand is lumpy.

MName the wastes in manufactudng,

A master proguction schedule contains

which information ?

‘What do you understand by free flaat 7

What type of production layout is being
faliowed for ponstruction of cancrete river

Bridge ¥

What ara the main characteristics of a JiT

i}
system 7
(i, WhatisJohhson's rule?
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Rs. 3200, The company expocts to sell the

2. inafactory, Ssven jobs are parformed on threa
: soldiers for HS: 4950 each. 10

machines (in order of A , B and C). The time
(a1 How many soldiers must be sold each year

reqguired for each job on sach machine is glven to braak "
gven ;

below, On the basis of the infermation, identity {b)  How much annual rel.,..r['—,nue is required to

the optimai seguance and cafculate the in and broak even 7

outtime for each joh on each machine and the ‘(¢] 1F18000 scldiers are sokd In pne year how

total elapsed timea, ; g
H 2 10 mush profitwill ba earmned 7
Job | Machine - 1] Machine - : : ' P
e e 4 ] Machiines . {d) Ifannual sales are expected to be 15000
; 4 & . . B
LB 3 5 = . soldisrs, what sheuld be the selling price
: C 7 3 5 nead to be in order to earn a profit of
0 4 5 1 Rs. 1.5 crore 7 ’
5 F G F B 4. Caloutate the trend adjusted forecasts using the
: G 7 K, 12 follonwing deta 0

Guater [1 [E |2 (a6 ]6 [ 7 [E[3 [0

3. HarleyIndia plans to produce a SeCUrily systam ; e |
Damaned | 213 | 204 | 158 | 206 | P30 1532 | M0 | FErpd | Bus

name “Soldier”, The annual fixed cost for the
Furthar, given mnitial cstimate = 208, initial trend

=0, o =0.2 and E' =0.1.
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preduction process (s expectad to be Rs. 92.5
lacs and the variable cost per “Soldiar” is
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tist and explain the prerequisites of JIT manu-
facturirg. Elaborate why each is a prerequigite.
10
Describg e ralationship between ﬁroceas
design and product design. What is simultaneous
angineerng ? What are its advantages ? 10

A praject has the foliowang kst of activities along
with their time of complation, precedence
relalirmshig, normal and crash aclivity limes and
normal and crash costs associated with it :

Activiby | Preceding | Fequired Time [Weeka) Cosl{Rs.)
Bgtivity harimial Crazh Mesteal [ Cragh
A il 2 18000 | 152000
B = L e | 100
& B B 4 1000 | 12000
D B 5 - 3 oo | 10000
- F A 13 10 000 | o0
l_F A 4 4 15000 | 15000
G F 2 1 1700 1400
H CLE G 5 4 500 | 95K
| F z 1 TON} SO0

HS5 4302 5 £TO.

(a) Drawthe project network diagram and find

' the eritical path 3

(b Fadeadline of 17 weeks to be imposed for
completion of the project, which activitias
are to be crashed and what would be the

additlanal costs. : 7

Bajaj Electricals buys electrical switches locally
for use in its assembly of a varety of electrical

products. Bajaj cbserves that the usage pattern

‘of these bought out switches follow a normal

distribution with mean of 1300 switches per week
und A stardard deviation of 200, The buying

process kakes one wesk. The invenlory Palding

" oostis Bs. 5 per urit per year and the cost of
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ordaring is Rs. 200/- per order. Balg| dasires ta
allow only 2 stock-out situations in a year.

Compute the safety stock required. 10

HSSMW 4302 7 -
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